
Corrigé exer
i
e 17 :

−→
w = −→

u +−→
v . Ces 3 ve
teurs sont don
 
oplanaires.

Corrigé exer
i
e 18 :

1.

−→
u +−→

v +−→
w =

−→
0 ⇔

−→
u = −

−→
v −

−→
w .

2. Ces 3 ve
teurs sont don
 
oplanaires.

Corrigé exer
i
e 25 :

−→
w = 3

−→
AI+

−→
IE = 3(

−→
AB+

−→
BI)+

−→
IE = 3

−→
AB+3

−→
BI+

−→
IE

−→
w = 3

−→
AB+2

−→
BI+

−−→
BE = 3

−→
AB+

−−→
BD+

−−→
BE = −→

u +−→
v

−→
u ,

−→
v et

−→
w sont don
 
oplanaires. Remarque : I est le 
entre du re
tangle ABCD don
 I est le milieu

de [BD]. Et ainsi, 2
−→
BI =

−−→
BD.
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